fiE By m

’ | we

.76

HEER L=5 pm

bom S 17.40m
I 11.992

T

H=1: 250
V=1:100
_30.00
KBM(T. 1) KBM(T. 2)
H=24. 000 H=23. 694
BEEE L=5 0m
] Ilkomnz 17 om
25.00 3 I 11.9n2
< W
T:250 |
DL=20. 00
4 [

© w© ~
8 8 =
B [E] =) & & =
8 8 R
h g =) & & =
8 8 8
B fn BE OB < ©
8 8 B
B ic} Bt ° &
Al o - «
g g ¢

ZhonC - ZEIRERFER

5,000

$=1:50

v

23.68

H=1.31m
SL=2.4m
H=1. 28m
SL=2.3m

2987 20.87/

wAK

*HO9cm L=1.50m @1.9p0m

S
El

N=5%&

No. 0

2,500

2,500

a2

L
S

A R

$=1:50

4
7

T’#

20.37

IromT
#RZ4mm, F50

1.28~1.40

BER K (6 50mm)

L=0-7m WL v b
TUHER t=10mm

30

BHEAYVIFL
@ 50mm

P4

WAK
*KDO9cm L=1.50m @1.00m

50

WHIIER v b (v Hi#ER, t=10mm)

7+ % (H=50cm,B=120cm, #B15cm)

Co

0.50 0.50 0.50

0.50[0.50]0.50

NO. 2

GH=23.77
Fi=

S

D=2.50

D=2.50

AKX (KO9em L=1.50m@1.00m)

T b (RERA) 10.0m3 YRHEK

% ™ O B o & 2

TrUE H@g?@ 120 | 10.00
S

BiEH | e Rg0em | m3 | 6.00

" wlc | 15
& 81| 07
" B[ E | 03
] B b | 01
@t E|L | 2.5
NO. 1
6H=23. 65
FH=
5
5
Py
HST
n §
Bk s B
T :
~
1.00 <
Co
" wlc | 09
& 81| 09
" B[ E | 03
[ B b | o1
wm i E|L | 2.3
NO. 0
6H=23. 68
FH=
5
7
%
DAk
(ST ]
\ £ “
\\
\ — Co
g =
T |
1.00 <
] wlc [ 16
& +[81 | 07
R ' E 0.3
] B[ b | o1
@A E|L | 2.4
EE KEEBEE
R B BT EIERE FHRBERE
TR BTG | ol
[ =@ - BFR - REHER
PR HiER

HEES




wo b B

|88 |8

2 & &
w & imo,ﬁ -
W =

@ ®
@ e | d| ¥ om
w| H|H|®|H

8 8 o ¥
o [
®

i ~

£ S
a g || e
# | X | K w &
P E) H |® &l ®

U0 "26=T (H¥ERR) Ed

M_T\L

|- AE=R

F &

: 250

$=1




